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288.9km 69.6km 6.3km 232.3km 462.6km 39.6km
JIPN~HE 2 R~ Ry
49.3km 24.9km
[&3t] [&3t]
281.6km 64.5km
(IF#) B 2 HE~
(23.5km)
LR (mm) 1,435 1,435 1,067 1,067 1,067 1,067
B Crpin) 11 5 - 96 109 26
RIS R R B () 66 31 2 21 131 18
0255 () 1,086 309 1 958 1,242 347
HEE S H 1Rk = = = 360 524 96
ok - - - - - -
#i3fE = = = 7 9 1
FARE - - - 11 30 3
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ATS-SK-Z A= ATS-SK 28 & X, ATS-SK 28 &8 X, ATS-SK 28 &
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66.1km 141.5km 148.0km 48.8km 68.7km 42.6km
AR~ 75 B
25.7km
&at]
68.3km
#L[H] (mm) 1,067 1,067 1,067 1,067 1,067 1,067
B Crpin) 23 35 35 13 22 29
AR A R R B () 3 29 38 6 17 15
50 X5 (4 pr) 161 342 211 188 181 186
HEE S H 1Rk 110 229 187 57 86 130
ok - - - - - -
#i3fE 4 6 3 7 4 4
FARE 5 12 10 1 35 16
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B A v CTC (PRCH}) CTC (PRCH}) CTC (PRCH}) CTC (PRCH}) CTC (PRCf¥) CTC (PRCf¥)
H BN R @ (5)  |ATS-DK -7 VAN Birikal ATS-SK - 258 2 ATS-DK+ 7 VX NG Birika ATS-DK+ 7 VXN fF Hirika ATS-SK 25 /8 2 ATS-SK 28 J& X,
ATS-SK- 28 =X ATS-SK 288 ATS-SK 28 & X,
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124.2km 61.6km 25.4km 42.5km 47.6km 25.1km
A (mm) 1,067 1,067 1,067 1,067 1,067 1,067
R (7B 26 15 14 12 13 9
HREEREIER) e SO 55 - = 2 9 4
10 158 Cr i) 239 97 45 133 129 84
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B A v e Ez CTC (PRCH}) CTC (PRCH}) il CTC (PRCH})
B B H1 s 1k 4 2 (J7:0)  |ATS-SK -2 J& =0 ATS-SK 28 J& X, ATS-DK T V4 V44 Hrfrika ATS-SK 28 J& X, ATS-SK 28 J& X, ATS-DK T V4 V44 Hrfrik
ATS-SK-Z A= ATS-SK - 258 2

[yl S TS EREEN DC 1,500V [ R H~ v fE e ] AC 20,000V[ Fuliz~ 727 R 2] |AC 20,000V
JHLR e re 85.0km/h 85.0km/h 85.0km/h 85.0km/h 95.0km/h 100.0km/h

TELI AR DR DL




(5) #RERIEER - BEOME (FF6FEIAKREA)

(P §x:E:JR]

[/SER =2y U R EE UR&EH]
%4 RS H R ETIRT 72 PR =R FaRAE LR
X R OV e (B R ) BrARGE~ H | # <7 P B IR~ 5 AT FH &5 ~ IR ZE P Fr~=f U By v e~ okl
13.3km 88.9km 1.4km 25.6km 87.8km
LR (mm) 1,067 1,067 1,067 1,067 1,067
R (AT 4 27 1 8 35 568
HREEREIER) e SO 1 25 - 2 12 487
10 158 Cr i) 31 195 11 90 223 6,489
B IE % B 1R 20 103 = 38 135 2,430
ok - - - - - -
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FiPkE B <R (B T46 ) [ ~ k]
B A v CTC (PRCH}) CTC (PRCH}) CTC (PRCH}) il CTC (PRCH})
B 5 B g 5 ) [ATS-SK- 28 )& 20 ATS-DK+ 7 VHNAF BARE A ATS-DK+ 7 V245 BARE A ATS-SK - 28 JE = ATS-DK -« 7 V444 BrAnika
ATS-SK-Z A= ATS-SK - 258 2 ATS-SK - 258 2
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17.9km 17.8km
[&Ft]
95.1km
i (mm) 1,435 1,067 1,435 1,067 1,435 1,067
B3 (i) 62 10 21 19 17 24
R A ko VR (BT = = = 2 1 1
&0 x5% (i) 506 46 96 4 - 88
HEsE A H1FE 318 23 49 = - 139
FofE - - - - - -
iRy = = = = = 2
AT - - 10 - - 39
et 318 23 59 = = 180
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B A 2 CTC (PRCfY) CTC CTC (PRCHY) CTC(PRCH) CTC (PRCHY) CTC
BBy dE R A (530 [ATS- stk B FR A= ATS - e B R AT 20 ATS » i ik i HR A 2 ATC « AR ] % i A B S RS 7 2 (ATC) | ATS - 28 &) =
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[%4 SR, FRIR R HAMR ARl O 135 3fiskiE %] PR FHHBR R B3 Limi
[X [ e OV 2 1 (R %) (B k) F L ~HAR 7B~ AR A ~ et (FFFE#R) 7 ~ B H N IR~ i
FREAR~ERE 13.7km 17.7km 93.8km 16.1km 24.8km
10.6km (G EI#R) 46 F ~ ) | B2 <
(R ) 6.8km
JERE AR~ I B AT (FJIBR) A4 ~ 1
2.3km 26.3km
[&Ft] A7t]
12.9km 49.2km
i (mm) 1,067 1,067 1,067 1,067 1,067 1,067
B3 (i) 18 11 10 57 36 14
R ) ko VR (BT 1 = 1 19 2 -
&0 x5% (i) 31 34 43 289 173 69
HEsE A H1FE 52 34 26 103 66 54
FofE - - - - - -
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Rk B B P <X OB R (42~ FE 1 3 ST ]
B oA el i3 CTC (PRCHF) i3 i3 i3 i3
B B A (25 A () [ATS - gk FR AR =X ATS - 2882 ATS- 2 &= ATS-SK- & 20 ATS- 2 &= ATS - 282
[upal DC 600V ]S ]S PIRR IR PR
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X R M OV 3 (R ) IR~ JUIN KT8 e ~ BEFHEesD 230 [TTAL ~ 3k
116.9km 2.1km 60.8km
i (mm) 1,067 1,067 1,067
B3 (i) 28 4 14 331
R ) ko VR (BT 21 1 12 49
&0 x5% (i) 256 1 231 1,636
HEsE A H1FE 132 12 84 1,008
FofE - - - -
BT 9 - 3 22
AT 17 - 2 124
et 158 12 89 1,154
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X & OV e (R ) AN~ AR (A1) (5H) (T PSR L 491)
8.8km| (I & ~ S 5 REARER AT~ 7K ERT T2 A ~ U R A
(FFBIZER) KAT=FHR) (TP SR 2881)
& ~RiE AR T ~ 7K AT A o B 5~ JEE U s v Rl
(RERT 38 (EREARHR) (8 1Li)
Rl BR AT~ BT 3 T~ _EREARER AT RZB~a
(KM (T HR) (FEZHR)
T T A ~ A UNGIS /AR R e JEE YL v S BR Al ~ R T
(CigN=53")) (IR #R) 13.1km
PG UCIT ~ 2 HEAR IR ~ H IR
11.5km 12.1km
BLH] (mm) - 1,435 1,435 1,435
B (i) 13 39 35 35 122
R A ko (5 FT) - 1 - 1
&0 x5% (i) 664 21 16 15 716
HEsE A 1 - - 2 16 18
R = = = =
5 37 - - - -
AT = 4 = 3 7
et - 4 2 19 25
B B oD A A H 4 il H
B Raidn | PeE HANEFMELK BHEPAE <RI RE~ 1G] | BB R TARR O~ HIRE] |2
B B i A 2 CTC (PRCAY) i3 3 13
B @ s k2 E S () [ATC- AR i3 i3 3
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[ERGRELRARINIY




